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0-9 ARROW SUDOKU (105) 

Every circle contains two digits which forms a two-digit number (including ‘0’ in ten’s place). 

This number is the sum of numbers along its arrow. Numbers can repeat along an arrow. 
(NOTE: For Answer Key, you may enter the two digits of a circle in any order. For example, the answer 

key of Row 4 is 2903871645 OR 2930871645, both will be considered valid) 
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0 4 5

8 4 0

2 3

8 9

6 4

3 6

5 7

9 7 0

6 7 5

0 4 5

8 4 0

2 3

8 9

6 4

3 6

5 7

9 7 0

6 7 5
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COUNT ARROW SUDOKU (50) 

The number in a circle indicates the number of different digits along its arrow. 
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3 1 8

2 3 7 9

1 7 8

2 4

4 8 2

1 3 7

8 2

8

1 2 4 5

3 1 8

2 3 7 9

1 7 8

2 4

4 8 2

1 3 7

8 2

8

1 2 4 5
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DIFFERENCE ARROW SUDOKU (100) 

The number in a circle is the difference of numbers along its arrow. All arrows will contain 

only two cells. 
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5 3 1

1 7 6

5 2

2

2 7

9

3 7

6 4 2

5 2 9

5 3 1

1 7 6

5 2

2

2 7

9

3 7

6 4 2

5 2 9
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INCOMPLETE ARROW SUDOKU (60) 

The number in a circle is the sum of the first ‘n’ digits along its arrow where ‘n’ is less than 

or equal to the length of the arrow. 
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5 2

8 6 7 9

9 2 7 5

8 5

3 4

8 5 9 7

5 9 8 2

1 6

5 2

8 6 7 9

9 2 7 5

8 5

3 4

8 5 9 7

5 9 8 2

1 6
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MISSING ARROW SUDOKU (120) 

The shape of the arrow is given, you need to identify its circle and tip such that the number 

in a circle is the sum of numbers along its arrow. Numbers can repeat along an arrow. The 

circle has to be at one of the ends. Each line represents EXACTLY one arrow. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8 1 2

7 6

4 8

3

4 2 9 1

7

7 9

8 5

3 5 8

8 1 2

7 6

4 8

3

4 2 9 1

7

7 9

8 5

3 5 8
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PARTED ARROW SUDOKU (90) 

The number in a circle is the sum of numbers along ALL its arrows. Numbers can repeat 

along an arrow. 
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5 9

2

7 6

7

1 6 8 4

8

6 5

1

3 8

5 9

2

7 6

7

1 6 8 4

8

6 5

1

3 8
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PRODUCT ARROW SUDOKU (80) 

The number in a circle is the unit’s digit of the product of numbers along its arrow. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�

�

�

�

�

�

3 6

2 4

6 9

1 5 9

7 3

9 8 6

1 5

9 6

2 8

3 6

2 4

6 9

1 5 9

7 3

9 8 6

1 5

9 6

2 8
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SKYSCRAPER ARROW SUDOKU (65) 

The number in a circle indicates the number of skyscrapers seen along its arrow. Each 

number represents the height of the skyscraper in that cell. If there are two (or more) 

skyscrapers of the same height along an arrow, only the first one is seen. 
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6 5

4 2

8 6 1 9

7 6 1 5 8 2

8 2 7 6 4 5

9 3 4 7

2 9

7 1

6 5

4 2

8 6 1 9

7 6 1 5 8 2

8 2 7 6 4 5

9 3 4 7

2 9

7 1
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SUM ARROW SUDOKU 1 (120) 

The number in a circle is the sum of numbers along its arrow. Numbers can repeat along an 

arrow. Two or more arrows from a circle must result in the same sum. 
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8

2 4

2 8

3 4

1 7

6 7

5

8

2 4

2 8

3 4

1 7

6 7

5
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SUM ARROW SUDOKU 2 (70) 

The number in a circle is the sum of numbers along its arrow. Numbers can repeat along an 

arrow. Two or more arrows from a circle must result in the same sum. 
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SYMMETRIC ARROW SUDOKU (75) 

The number in a circle will be the sum of numbers along its arrow. You need to draw the 

arrows in the standard format passing through neighbouring cells. Arrows cannot overlap 

or intersect. No part of an arrow can go outside the grid. Numbers can repeat along an 

arrow. Every pair of 180-degree symmetric circles will have 180-degree symmetric arrows. 
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8 2 5 6

6 1 4

9 4

2 8 1 7

5 8

1 6 5

6 7 8 9

6

4

8 2 5 6

6 1 4

9 4

2 8 1 7

5 8

1 6 5

6 7 8 9
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WRONG ARROW SUDOKU (65) 

The number in a circle is one more OR one less than the sum of numbers along 

its arrow. Numbers can repeat along an arrow. 
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3 2 4 1

5 8

8 5 7

7 8

7 9

9 4

7 8 4

9 7

2 1 8 3

3 2 4 1

5 8

8 5 7

7 8

7 9

9 4

7 8 4

9 7

2 1 8 3


